Quadtotic.  Tormola
¥ SeF Yne e,cb\lo'\'\or\ e,aQuou\ ‘o Zero X

@y + Bx ~

—

W

%’j&r\'\'\% g, walues %/ Qiblc{; ¢ X




-B(ﬂ\is_‘ Find o, b‘ ¥ C

- =l
2 -
@ Q,X+L\¥—-?D—-O & - -
B =95
- Bx »~ B A4 - |
Ix“E€8x + b = O b= -5




—

%o:eﬂ(:m Wc, FM _ _—_Eil,l b::Hac,
) X L %% Q Y—-D Q : \ . ra?\ace o', C
y - —(3) -1 s W ().
Q- \ } 201) s
g W= -9% YR 0 —
C/: IS X = —ﬂ
e / X -8-2 -10

Y - .-l 7 5L
02[2,6 K 0,1




So\e IPE B -\ - Q @ x- "o ﬁz_g

12 ¥

= -
& S ETE ey

D - -3 — 2(a)

C= "Ny CEICRICN
L.\




